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Practice Set

CODED INEQUALITY

1. Read the given statement and conclusions carefully.
Decide which of the given conclusions is/are definitely
true from the statement.

fn, x, dFku vkSj fu"d"kZ dks è;kuiwoZd i<+saA fu.kZ; ysa fd dFku ls dkSu
lk@ls fu"d"kZ fuf'pr :i ls lR; gS@gSaA
Statement/dFku:

F > B < E  C = D  A > G

Conclusion/fu"d"kZ:
I. G < F II. C > G

SSC CHSL Mains, 26/06/2023 (Shift-1)

(a) Both Conclusion I and Conclusion II are true.

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA
(b) Only Conclusion II is true.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(c) Neither Conclusion I nor Conclusion II is true.

u rks fu"d"kZ I u gh II vuqlj.k djrk gSA
(d) Only Conclusion I is true.

dsoy fu"d"kZ I vuqlj.k djrk gSA
2. Read the given statement and conclusions carefully.

Decide which of the given conclusions is/are definitely
true from the statement.

fn, x, dFku vkSj fu"d"kZ dks è;kuiwoZd i<+saA fu.kZ; ysa fd dFku ls dkSu
lk@ls fu"d"kZ fuf'pr :i ls lR; gS@gSaA

SSC CHSL Mains, 26/06/2023 (Shift-1)

Statement/dFku:

M < K  N > P = J > O  L

Conclusion/fu"d"kZ:
I. N > L II. O = M
(a) Only Conclusion II is true.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(b) Both Conclusion I and Conclusion II are true.

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA
(c) Neither Conclusion I nor Conclusion II is true.

u rks fu"d"kZ I u gh II vuqlj.k djrk gSA
(d) Only Conclusion I is true.

dsoy fu"d"kZ I vuqlj.k djrk gSA
3. In the following question, the statement is followed by

two conclusions. Which of the two conclusions is/are
true?

bl iz'u esa ,d dFku ds ckn nks fu"d"kZ fn, x, gSaA nksuksa esa ls dkSu&lk@ls
fu"d"kZ lR; gS@gSa\
Statement/dFku%
M < K > I < J > H = G = F

Conclusions/fu"d"kZ%
I. H = F II. J > G

SSC CGL Mains, 02/03/2023

(a) Only conclusion I is true.

 dsoy fu"d"kZ I lR; gSA
(b) Both conclusions I and II are true.

fu"d"kZ I vkSj II nksuksa lR; gSA

(c) Only conclusion II is true.

 dsoy fu"d"kZ II lR; gSA
(d) Neither conclusion I nor II is true.

u rks fu"d"kZ I vkSj u gh II lR; gSA
4. In this question, the statement is followed by two

conclusions. Which of the two conclusion(s) is/are true?

bl iz'u esa ,d dFku ds ckn nks fu"d"kZ fn, x, gSaA nksuksa esa ls dkSu&lk@ls
fu"d"kZ lR; gS@gSa\
Statement/dFku%
A = B  C  D > G < E < F

Conclusions/fu"d"kZ%
I. B > F II. C < A

SSC CGL Mains, 03/03/2023

(a) Only conclusion I is true.

dsoy fu"d"kZ I lR; gSA
(b) Only conclusion II is true.

dsoy fu"d"kZ II lR; gSA
(c) Neither conclusion I nor II is true.

u rks fu"d"kZ I vkSj u gh II lR; gSA
(d) Both conclusions I and II are true.

fu"d"kZ I vkSj II nksuksa lR; gSA
5. In this question, the statement is followed by two

conclusions. Which of the two conclusion(s) is/are true?

bl iz'u esa] dFku ds ckn nks fu"d"kZ fn, x, gSaA nksuksa esa ls dkSu&lk@ls
fu"d"kZ lR; gS@gSa\
Statement/dFku%
Z > F  A = B = G > S < E

Conclusions/fu"d"kZ%
I. Z < A II. G < F

SSC CGL Mains, 06/03/2023

(a) Only conclusion I is true.

dsoy fu"d"kZ I lR; gSA
(b) Only conclusion II is true.

dsoy fu"d"kZ II lR; gSA
(c) Both conclusions I and II are true.

fu"d"kZ I vkSj II  nksuksa lR; gSA
(d) Neither conclusion I nor II is true.

u rks I vkSj u gh II lR; gSA
6. If G > T, H = B, T > H, M = T and B > K, then which of the

following  expressions is correct?

;fn G > T, H = B, T > H, M = T vkSj B > K gS] rks fuEu esa ls dksu
lk O;atd lgh gS\

SSC MTS, 26/10/2021 (Shift--3)

(a) G = T (b) K < H (c) B > T (d) G < M

7. If N > G > E and F = E > Q = R, then which of the following
options is NOT correct?

;fn N > G > E vkSj F = E > Q = R gS] rks buesa ls dkSu lk fodYi
lgh ugha gS\

SSC MTS, 27/10/2021 (Shift--1)

(a) G > Q (b) F < R (c) N > E (d) F > Q
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8. If B = D, C = U, B > G, U > R and C > S, then which of the
following expressions is NOT correct?

;fn B = D, C = U, B > G, U > R vkSj C > S gS] rks fuEu esa ls dkSu
lk O;atd lgh ugha gS\

SSC MTS, 27/10/2021 (Shift--2)

(a) S < C (b) S < U (c) C < R (d) G < D

9. Read the given statements and conclusions carefully.
Decide which of the given conclusions is are true based
on the given statement.

fn, x, dFkuksa vkSj fu"d"kksZa dks è;kuiwoZd i<+saA fn, x, dFku ds vkèkkj
ij r; djsa fd fn, x, fu"d"kksZa esa ls dkSu lk lR; gSA
Statement/dFku%
W = H  G = C  T  I  M

Conclusions/fu"d"kZ%
I. T  W II. C  M

NTPC CBT-2, 09/05/2022 (Shift-1)

(a) Only conclusion II is true.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(b) Both conclusions I and II are true.

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA
(c) Only conclusion I is true.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(d) Neither conclusion I nor II is true.

u rks fu"d"kZ I vkSj u gh II vuqlj.k djrk gSA
10. Read the given statements and conclusions carefully.

decide which of the given conclusions logically follow from
the given statements?

fn, x, dFku vkSj fu"d"kksZa dks è;kuiwoZd i<+saA r; djsa fd fn, x, fu"d"kksZa
esa ls dkSu ls dFku dk rkfdZd :Ik ls ikyu djrs gSa\
Statement/dFku%
P > Z, N < T, M > N, Z > M

Conclusions/fu"d"kZ%
I. P < T II. N < Z

NTPC CBT-2, 12/06/2022 (Shift-1)

(a) Both conclusions I and II follow.

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA
(b) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(c) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
(d) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
11. Read the given statements and conclusions carefully.

Decide which of the given conclusion/s/is/are true
based on the given statement.

fn, x, dFkuksa vkSj fu"d"kksZ a dks è;kuiwoZd i<+saA fn, x, dFku ds
vkèkkj ij r; djsa fd fn, x, fu"d"kksZa esa ls dkSu lk@ls lR;
gS@gSaA
Statements/dFku%
K  L > M < N  X

Conclusions/fu"d"kZ%
I. X > M II. X > L III. M < K IV.  L > K

NTPC CBT-2 15/06/2022 (S-01)

(a) Only conclusion is true.

dsoy fu"d"kZ I lR; gSA
(b) Only conclusions I and III are true.

dsoy fu"d"kZ I vkSj III lR; gaSA

(c) Only conclusions I and IV are true.

dsoy fu"d"kZ I vkSj IV lR; gSaA
(d) Only conclusion II is true.

dsoy fu"d"kZ II lR; gSA
12. Select the correct conclusion that could be drawn from

the given expression.

ml lgh fu"d"kZ dk p;u djsa tks fn, x, O;atd ls fudkyk tk
ldrk gSA
F   E < C = V > A  Y > N

NTPC CBT-2, 15/06/2022 (Shift-2)

(a) E > Y (b) N < V (c) F = V (d) V < Y

13. Read the given statements and conclusions carefully.
decide which of the given conclusions logically follow
from the given statements?

fn, x, dFku vkSj fu"d"kksZa dks è;kuiwoZd i<+saA r; djsa fd fn, x,
fu"d"kksZa esa ls dkSu ls dFku dk rkfdZd :Ik ls ikyu djrs gSa\
Statements/dFku%
M  N < O, A  B < C = O

Conclusions/fu"d"kZ%
I. N > B II. C > M

NTPC CBT-2, 15/06/2022 (Shift-03)

(a) Both conclusions I and II follow.

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA
(b) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(c) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
(d) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
14. Read the given statements and concludions carefully,

decide which of the given conclusions is are true based
on the statements.

fn, x, dFkuksa vkSj fu"d"kksZ a dks è;kkuiwoZd i<+saA dFkuksa ds vk/kj
ij fu.kZ; dhft, fd fn, x, fu"d"kksZ a esa ls dkSu lk lR; gSA
Statements/dFku%
A > B  C

P < Q  A

Conclusions/fu"d"kZ%
I. B  P II. C  Q

NTPC CBT-2, 14/06/2022 (Shift-1)

(a) Only conclusions II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
(b) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(c) Neither conclusions I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
(d) Both conclusions I and II follows.

fu"d"kZ I vkSj II vuqlj.k djrs gSaA
15. Read the given statements and conclusions carefully.

decide which of the given conclusions logically follow
from the given statements?

fn, x, dFku vkSj fu"d"kksZa dks è;kuiwoZd i<+saA r; djsa fd fn, x,
fu"d"kksZa esa ls dkSu ls dFku dk rkfdZd :Ik ls ikyu djrs gSa\
Statements/dFku%
Z > H  Y > R < D  F > X

Conclusions/fu"d"kZ%
I. Z  X II. F > H
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NTPC CBT-2, 17/06/2022 (Shift-2)

(a) Both conclusions I and II follow.

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA
(b) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(c) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
(d) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA
16. read the given statements and conclusions carefully.

decide which of the given conclusions logically follow
from the given statements?

fn, x, dFku vkSj fu"d"kksZ a dks è;kuiwoZd i<+saA r; djsa fd fn,
x, fu"d"kksZa esa ls dkSu ls dFku dk rkfdZd :Ik ls ikyu djrs gSa\

Statements/dFku%

Q > P  I > J = M  L < E

Conclusions/fu"d"kZ%
I. J < E II. Q > M

NTPC CBT-2 16/06/2022 (S-02)

(a) Both conclusions I and II follow.

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA
(b) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(c) Neither conclusion I nor conclusion II follows.

u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
(d) Only conclusion II follows.

dsoy fu"d"kZ II vuqlj.k djrk gSA

17. Statement/dFku:

B > A  T > F = Y  S < D

Conclusions/fu"d"kZ:
I. F < D II. A > S

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA
(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA
(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

18. Statement/dFku:

Y < O  G  K = U > L > P

Conclusions/fu"d"kZ:
I.   O = U II.   U > O

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA
(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

19. Statement/dFku:

M < T < G  J = U > Y > R

Conclusions/fu"d"kZ:
I.   G < U II.   J > R

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA
(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA
(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA
20. Statement/dFku:

3  9 < 7  10 = 2  6

Conclusions/fu"d"kZ:
I. 6 > 9 II. 9  2

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA
(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA
(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA
21. Statement/dFku:

P  R  C = S > Q > T

Conclusions/fu"d"kZ:
I. P < Q II. S  P

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA
(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA
(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

22. Statement/dFku:

L  Y  A < R, S > Q = A  I

Conclusions/fu"d"kZ:
I. S > Y, II. R > Q

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
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(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA
(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA
(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

23. Statement/dFku:

M < A  P > X, P  B = C < Y, C  D > F

Conclusions/fu"d"kZ:
I.  P  D, II. M < C

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

24. Statement/dFku:

J = X  U > Z, M = N  U = P, L = O < N  T

Conclusions/fu"d"kZ:

I. J < N II. O > U

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

25. Statement/dFku:

H  V = O > R, X  D > Y > R, Y > N = L < Z

Conclusions/fu"d"kZ:

I. O < D, II. R > N

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

26. Statement/dFku:

C < D, E   B, B > D, A = E

Conclusions/fu"d"kZ:
I. B > C, II. A < D

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA
(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA
(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

27. Statement/dFku:

M = X < Z = W = N  Q < T  V = U

Conclusions/fu"d"kZ:

I. V  W  II.  T > U

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA
(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA
(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

28. Statement/dFku:

P  Q < S = T  U  W < Z

Conclusions/fu"d"kZ:
I. S > W, II. W = T

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA
(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA
(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

29. Statement/dFku:

P  I, N < J, R > A = P, I = J

Conclusions/fu"d"kZ:
I. R  I,  II. A > N

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA
(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA
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(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

30. Statement/dFku:

N > U  M = B, D  R  E > B

Conclusions/fu"d"kZ:

I. E > M,

II. N < D

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

31. Statement/dFku:

U < I, V = E, R  V , I < N < R

Conclusions/fu"d"kZ:

I. R > U,

II. I  E

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

32. Statement/dFku:

S > M = Z > T < Q > V

Conclusions/fu"d"kZ :

I. V = S,

II. Q > M

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

33. Statement/dFku:

T < U = V  S > P  Q

Conclusions/fu"d"kZ:

I. S > T, II.  V > Q

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

34. Statement/dFku:

D  S, X < W, S = J, W > Y, X > D, Y  O, J  E

Conclusions/fu"d"kZ:

I. D > E II. D = E III.  O > S

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Both conclusions (I) and (III) follow.

fu"d"kZ (I) vkSj (II) nksuksa vuqlj.k djrs gSA

(c) Only Conclusion (III) follows.

dsoy fu"d"kZ (III) vuqlj.k djrk gSA

(d) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(e) None of the conclusions follow.

dksbZ Hkh fu"d"kZ vuqlj.k ugha djrk gSA

35. Statement/dFku:

P < K, B  D, K = E, H > B, P  G, E > T, D = G

Conclusions/fu"d"kZ:

I. K > T II. B > P III. B = P

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Both conclusions (I) and (III) follow.

fu"d"kZ (I) vkSj (II) nksuksa vuqlj.k djrs gSA

(c) Only Conclusion (III) follows.

dsoy fu"d"kZ (III) vuqlj.k djrk gSA

(d) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(e) None of the conclusions follow.

dksbZ Hkh fu"d"kZ vuqlj.k ugha djrk gSA
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36. Statement/dFku:

S < V, P = M, T > V, M < I, R = I, P < T

Conclusions/fu"d"kZ:

I. I > P II. S > M III. I < T

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Both conclusions (I) and (III) follow.

fu"d"kZ (I) vkSj (II) nksuksa vuqlj.k djrs gSA

(c) Only Conclusion (III) follows.

dsoy fu"d"kZ (III) vuqlj.k djrk gSA

(d) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(e) All the conclusions follow.

lHkh fu"d"kZ vuqlj.k djrk gSA

37. Statement/dFku:

X = T, Z < K, K < H, F = Q, T < Z, F > H

Conclusions/fu"d"kZ:

I. T < F

II. Q > K

III. Z < F

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Both conclusions (I) and (III) follow.

fu"d"kZ (I) vkSj (II) nksuksa vuqlj.k djrs gSA

(c) Only Conclusion (III) follows.

dsoy fu"d"kZ (III) vuqlj.k djrk gSA

(d) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(e) All the conclusions follow.

lHkh fu"d"kZ vuqlj.k djrk gSA

38. Statement/dFku:

C = W  T, V > T > L, E  V = I, C > G = E

Conclusions/fu"d"kZ:

I. G < T

II. C < I

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

39. Statement/dFku:

A  C > K, J < K  H, L = W  J, B  W = M

Conclusions/fu"d"kZ:

I. A > L ,

II. C > H

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

40. Statement/dFku:

W < H  L < J  N < V, M = F  J = G  I > Q, U  P < E =

C = I

Conclusions/fu"d"kZ:

I. E < V

II. W < P

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA

41. Statement/dFku:

A > C = B = F   J < M, K = Q   J < Z < N, X = U  K = S

 Z > X

Conclusions/fu"d"kZ:

I.  Z < C

II. A > K

(a) Only conclusion (I) follows.

dsoy fu"d"kZ (I) vuqlj.k djrk gSA

(b) Either conclusion (I) or conclusion (II) follows.

;k rks fu"d"kZ (I) ;k fu"d"kZ (II) vuqlj.k djrk gSA

(c) Only Conclusion (II) follows.

dsoy fu"d"kZ (II) vuqlj.k djrk gSA

(d) Both conclusions follow.

nksuksa fu"d"kZ vuqlj.k djrk gSA

(e) Neither conclusion (I) nor conclusion (II) follows.

u rks fu"d"kZ (I) vkSj u gh fu"d"kZ (II) vuqlj.k djrk gSA
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Directions (42-46): In the following questions, certain

symbols are used with the following meaning:

funZs'k (42-46): fuEufyf•r ç'uksa esa] dqN çrhdksa dk mi;ksx fuEufyf•r
vFkks± ds lkFk fd;k tkrk gS%
P Å  Q means P is greater than Q.

P Å  Q dk vFkZ gS fd P, Q ls cM+k gSA

P © Q means P is either greater than or equal to Q.

P © Q dk vFkZ gS fd P, Q ls ;k rks cM+k gS ;k cjkcj gSA

P = Q means P is equal to Q.

P = Q dk vFkZ gS fd P, Q ds cjkcj gSA
P @ Q means P is smaller than Q.

P @ Q dk vFkZ gS fd P, Q ls NksVk gSA
P @ Q means P is either smaller than or equal to Q.

P @ Q dk vFkZ gS fd P, Q ls ;k rks NksVk gS ;k cjkcj gSA
Now in each of the following questions assuming the given

statements to be true. find which of the two conclusions I

and II given below them is/are definitely true? Give answer

vc fuEufyf•r çR;sd ç'u esa fn, x, dFkuksa dks lR; ekurs gq,A Kkr

dhft, fd uhps fn, x, nks fu"d"kks± I vkSj II esa ls dkSu lk@ls fuf'pr :i ls
lR; gS@gSa\ tokc nksA

(a) if only conclusion I is true;

;fn dsoy fu"d"kZ I lR; gS_

(b) if only conclusion II is true;

;fn dsoy fu"d"kZ II lR; gS_

(c) if either I or II is true;

;fn ;k rks I vkSj ;k II lR; gS_

(d) if neither I nor II is true; and

;fn uk rks I vkSj u gh II lR; gS_ vkSj

(e) if both I and II are true;

;fn nksuksa I vkSj II lR; gS_

42. Statements :

I © V, R @ D, E @ V, R = 1

Conclusions :

I. DÅ V II. E = I

43. Statements :

T = A, E @ L, T @ E, RÅ A

Conclusions :

I. TÅ A II. T@R

44. Statements :

C @ A, O @ C, E = P, EÅ A

Conclusions :

I. PÅ A II. O@A

45. Statements :

M © B, R @ B, M @ U, R = E

Conclusions :

I. MÅ R II. M = R

46. Statements :

S © M, KÅ A, S @ U, A @ M

Conclusions :

I. A = S II. KÅ M

Directions (47-50): In the following questions, the symbols

    and  are used with the following meaning.

funZs'k (47-50): fuEufyf•r ç'uksa esa] çrhd      vkSj  dk

mi;ksx fuEufyf•r vFkks± esa fd;k x;k gSA

P  Q means P is greater than Q.

P  Q dk vFkZ gS fd P, Q ls cM+k gSA

P  Q means P is either greater than or equal to Q.

P  Q dk vFkZ gS fd P, Q ls ;k rks cM+k gS ;k cjkcj gSA

P  Q means P is equal to Q.

P  Q dk vFkZ gS fd P, Q ds cjkcj gSA

P  Q means P is smaller than Q.

P  Q dk vFkZ gS fd P, Q ls NksVk gSA

P  Q means P is either smaller than or equal to Q.

P  Q dk vFkZ gS fd P, Q ls ;k rks NksVk gS ;k cjkcj gSA

Now in each of the following questions assuming the given

statements to be true, find which of the two conclusions I

and II given below them is/are definitely true? Give answer

vc fuEufyf•r çR;sd ç'u esa fn, x, dFkuksa dks lR; ekurs gq,A Kkr

dhft, fd uhps fn, x, nks fu"d"kks± I vkSj II esa ls dkSu lk@ls fuf'pr :i ls

lR; gS@gSa\ tokc nksA

(a) If only conclusion I is true;

;fn dsoy fu"d"kZ I lR; gS_

(b) If only conclusion II is true;

;fn dsoy fu"d"kZ II lR; gS_

(c) If either I or II is true;

;fn ;k rks I vkSj ;k II lR; gS_

(d) If neither I nor II is true; and

;fn uk rks I vkSj u gh II lR; gS_ vkSj

(e) If both I and II are true;

;fn nksuksa I vkSj II lR; gS_

47. Statements :

P  A, I  D, K  A, I  P

Conclusions :

I.  IK II. DA

48. Statements :

U  S, N  A, H  U, A  S

Conclusions :

I. U  A II. A  U

49. Statements :

E  D, K  A, E  R, A  D

Conclusions :

I. K  A II. K  R

50. Statements :

Y  L, A  R, M  Y, M  R

Conclusions :

I. R  L II. A  M
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Answer-Key

1. (b) 2. (d) 3. (b) 4. (c) 5. (d) 6. (b) 7. (b) 8. (c) 9. (c) 10. (d)

11. (b) 12. (a) 13. (d) 14. (c) 15. (c) 16. (a) 17. (a) 18. (b) 19. (c) 20. (a)

21. (c) 22. (c) 23. (a) 24. (e) 25. (c) 26. (a) 27. (c) 28. (e) 29. (c) 30. (a)

31. (a) 32. (e) 33. (c) 34. (d) 35. (a) 36. (a) 37. (e) 38. (a) 39. (c) 40. (a)

41. (c) 42. (a) 43. (b) 44. (e) 45. (c) 46. (d) 47. (d) 48. (c) 49. (d) 50. (a)

Answer With Explanation

1. (b) Statement:

F > B < E  C = D  A > G

Conclusion:

I.  G < F (<, , =, , >, <) (×)

II. C > G (=, , >) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA

2. (d) Statement:

M < K  N > P = J > O  L

Conclusion:

I. N > L (>, =, >, ) ()

II. O = M (<, =, <, , >) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA
3. (b) Statement:

M < K > I < J > H = G = F

Conclusion:

(i) H = F (=, =) (×)

(ii) J > G (>, =) ()

vr% fu"d"kZ I vkSj II nksuksa lR; gSA
4. (c) Statement:

A = B  C  D > G < E < F

Conclusion:

(i) B > F (, , >, <, <) (×)

(ii) C < A (, =) (×)

vr% u rks fu"d"kZ I vkSj u gh II lR; gSA

5. (d) Statement:

Z > F  A = B = G > S < E

Conclusion:

I. Z < A (>, ) (×)

II. G < F (=, =, ) (×)

vr% u rks fu"d"kZ I vkSj u gh II lR; gSA
6. (b) Statemnet:

G > M = T > H = B > K

Conclusion:

(a) G = T (>, =) (×)

(b) K < H (<, =) ()

(c) B > T (=, <, T) (×)

(d) G < M (>) (×)

vr% option (b) lgh gSA

7. (b) Statement:

N > G > E = F > Q = R

Conclusion:

(a) G > Q (>, =, >) ()

(b) F < R (>, =) (×)

(c) N > E (>, >) ()

(d) F > Q (>) ()

vr% option (b) lgh ugha gSA
8. (c) Statement:

D = B > G, R < U = C > S)

Conclusion:

(a) S < C (<) ()

(b) S < U (<, =) ()

(c) C < R (=, >) (×)

(d) G < D (<, =) ()

vr% option (c) lgh ugha gSA
9. (c) Statement:

W = H  G = C  T  I  M

Conclusion:

I. T  W () ()

II. C  M ( (×)

vr% fu"d"kZ I vuqlj.k djrk gSA
10. (d) Statement:

P > Z > M > N < T

Conclusion:

I. P < T (>, >, >, <) (×)

II. N < Z (<, <) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA
11. (b) Statement:

K  L > M < N  X

Conclusion:

(a) X > M (, >) ()

(b) X > L (, >, <) (×)

(c)  M < K (<, ) ()

(d)  L > K () (×)

vr% fu"d"kZ I vkSj III nksuksa lR; gSaA
12. (a) Statement:

F  E < C = V > A  Y > N
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Conclusion:

(a) E > Y (<, =, >, ) (×)

(b) N < V (<, , <) ()

(c) F = V (, <, =) (×)

(d) V < Y (>, ) (×)

13. (d) Statement:

M  N < O = C > B  A

Conclusion:

I. N > B (<, =, >) (×)

II. C > M (=, >, ) ()

vr% fu"d"kZ II vuqlj.k djrk gSA
14. (c) Statement:

P < Q  A > B  C

Conclusion:

(i) B  P (<, , >) (×)

(ii) C  Q (, <, ) (×)

vr% u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
15. (c) Statement:

Z > H  Y > R < D  F > X

Conclusion:

I. Z X (>, , >, <, , >) (×)

II. F > H (, >, <, )  (×)

vr% u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
16. (a) Statement:

Q > P  I > J = M  L < E

Conclusion:

I. J < E (=, , <) ()

II. Q > M (>, , >, =) ()

vr% fu"d"kZ I vkSj II nksuksa lR; gSaA
17. (a) Statement:

B > A  T > F = Y  S < D

Conclusion:

I. F < D (=  <) ()

II. A > S (, >, =, ) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSaA
18. (b) Statement:

Y < O  G  K = U > L > P

Conclusion:

I. O = U (, , =) (×)

II. U > O (=, , ) (×)

vr% ;k rks fu"d"kZ I ;k fu"d"kZ II vuqlj.k djrk gSA
19. (c) Statement:

M < T < G  J = U > Y > R

Conclusion:

I. G < U (, =) (×)

II. J > R (=, >, >) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA
20. (a) Statement:

3  9 < 7  10 = 2  6

Conclusion:

(i) 6 > 9 (, =, , >) ()

(ii) 9  2 (<, , =) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA

21. (c) Statement:

P  R  C = S > Q > T

Conclusion:

(i) P < Q (, , =, >) (×)

(ii) S  P (=,  ) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA
22. (c) Statement:

L > Y  A < R 

S > Q  I 

=

Conclusion:

I. S > Y (>, =, ) (×)

II. R > Q (>, =) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA
23. (a) Statement:

M < A  P > X 

=

P  B = C < Y 

C  D > F

=

Conclusion:

I. P  D (, =, ) ()

II. M < C (<, , , =) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA
24. (e) Statement:

J = X  U > Z

P  N  T 

=
=

M > O = L

Conclusion:

I. J < N (=, , ) (×)

II. O > U (<, , =) (×)

vr% u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k djrk gSA
25. (c) Statement:

H  V = O > R

Z > L = N < Y

D



X

Conclusion:

I. O < D (>, >, >) (×)

II. R > N (>, >) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSaA
26. (a) Statement:

A = E  B > D > C

Conclusion:

I. B > C (>, >) ()

II. A < D (=, , >) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA
27. (c) Statement:

M = X < Z = W = N  Q < T  V = U

Conclusion:
I. V  W (, >, , =) (×)
II. T > U

(T = U, T < U) = T  U ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA
28. (e) Statement:

P  Q < S = T  U  W < Z

Conclusion:

I. S > W (=, , ) (×)

II. W = T (, ) (×)

vr% u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k gSA
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29. (c) Statement:

R > A = P  I = J > N

Conclusion:

I. R  I (>, =, ) (×)

II. A > N (=, , =, >) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA
30. (a) Statement:

N > V  M = B 
=

D  R  E > B  

Conclusion:

I. E > M (>, =) ()
II. N < D (>, , =, >, , ) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA
31. (a) Statement:

U < I < N < R

=

E = V  R 

Conclusion:

I. R > U (>, >, >) ()

II. I  E (<, <, =, , =) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA
32. (e) Statement:

S > M = Z > T < Q > V

Conclusion:
I. V = S (<, >, <, =, <) (×)

II. Q > M (>, <, =) (×)

vr% u rks fu"d"kZ I vkSj u gh fu"d"kZ II vuqlj.k gSA
33. (c) Statement:

T < U < V  S > P  Q

Conclusion:

I. S > T (, >, >) (×)

II. V > Q (, >, ) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA
34. (d) Statement:

O  Y < W > X > D  S = J  E

Conclusion:
I. D > E (, =, ) (×)

II. D = E (, =, ) (×)

III. O > S (, <, >, >, ) (×)

vr% ;k rks fu"d"kZ I ;k fu"d"kZ II vuqlj.k gSA
35. (a) Statement:

H > B  D = G  P < K = E > T

Conclusion:

I. K > T (=, >) ()
II. B > P (, =, ) (×)

III. B = P (, =, ) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA
36. (a) Statement:

S < V < T > P = M < I = R

Conclusion:

I. I > P (>, =) ()

II. S > M (<, <, >, =) (×)
III. I < T (>, =, <) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA
37. (e) Statement:

X = T < Z < K < H < F = Q
Conclusion:

I. T < F (<, <, <, <) ()

II. Q > K (=, >, >) ()

III. Z < F (<, <, <) ()

vr% lHkh fu"d"kZ vuqlj.k djrs gSaA

38. (a) Statement:

I = V  E = G < C = W  T 

=

V > T > L

Conclusion:

I. G < T (<, =, ) ()

II. C < I (>, =, , =) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA
39. (c) Statement:

A  C > K

=

L = W  J < K  H  

B  W = M

=

Conclusion:

I. A > L (, >, >, , =) (×)

II. C > H (>, ) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA
40. (a) Statement:

W < H  L < J  N < V 

=

Q < I  G = J

U  P < E = C = I

=

Conclusion:

I. E < V (=, =, , =, , <) ()

II. W < P (<, , <, =, >, =, =, >) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA
41. (c) Statement:

A > C = B = F  J < M

=
N > Z > J  Q = K = S  Z > X 

Conclusion:

I. Z < C (, =, =, , , =, =) (×)

II. A > K (>, =, =, , , =) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA

Sol. (42–45)

>

< 

A° 

@ @

=

42. (a) Statement:

I  V, R @ D, E @ V, R = I

D > R = I  V > E

Conclusion:

I. DÅ V

D > V (>, =, ) ()

II. E = I (<, ) (×)

vr% dsoy fu"d"kZ I vuqlj.k djrk gSA
43. (b) Statement:

T = A, E @ L, T @ E, R Å A

L  E > T = A < R

Conclusion:

I. T Å A

T > A (=) (×)

II. T @ R

T < R (=, <) ()

vr% dsoy fu"d"kZ II vuqlj.k djrk gSA
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44. (e) Statement:

C @ A, O @ C, E = P, E Å A

C  A, O < C, E = P, E > A

O < C  A < E = P

Conclusion:

(i) P Å A

P > A (=, >) ()

(ii) O @ A

O < A (<, ) ()

vr% nkssuksa I vkSj II lR; gSaA
45. (c) Statement:

M  B, R @ B, M @ U, R = E

M  B, R  B, M < U, R = E

U > M  B  R = E

Conclusion:

(i) M Å  R

M > R (, ) (×)

(ii) M = R (, ) (×)

vr% ;k rks I ;k II lR; gSA
46. (d) Statement:

S  M, K Å A, S @ U, A @ M

S  M, K > A, S < U, A < M

U > S  M > A < K

Conclusion:

(i) A = S (<, ) (×)

(ii) K Å M

K > M (>, <) (×)

vr% u rks I vkSj u gh II lR; gSA
Sol. (47–50)

>

< 

 

 


=

47. (d) Statement:

P  A, I  D, K  A, I  P

P > A, I < D, K  A, I  P

K  A < P  I < D

Conclusion:

(i) I  K

I = K (, >, ) (×)

(ii) D  A

D = A (>, , >) (×)

vr% u rks I vkSj u gh II lR; gSA
48. (c) Statement:

U  S, N  A, H  U, A  S

U  S, N < A, H > U, A  S

H > U  S  A > N

Conclusion:

(i) U  A

U = A (, ) (×)

(ii) A  U

A < U (, ) (×)

vr% ;k rks I ;k II lR; gSA
49. (d) Statement:

E  D, K  A, E  R, A  R

E  D, K  A, E > R, A = R

K  A = R < E  D

Conclusion:

(i) K  A

K = A () (×)

(ii) K  R

K < R (, =) (×)

vr% u rks I vkSj u gh II lR; gSA
50. (a) Statement:

Y  L, A  R, M  Y, M  R

Y  L, A  R, M > Y, M  R

A  R  M > Y  L

Conclusion:

(i) R  L

R > L (, >, ) ()

(ii) A  M

A = M (, ) (×)

vr% dsoy fu"d"kZ I lR; gSA




